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BACHELOR OF SCIENCE (GENERAL) 

(BSCG)  

Term-End Examination 

June, 2024 

BBYCT-135 : PLANT ANATOMY AND 

EMBRYOLOGY 

Time : 2 Hours     Maximum Marks : 50 

Note : Q. No. 1 is compulsory. Attempt any four 

questions from Question Nos. 2 to 7.  

Draw well labelled diagrams wherever 

necessary. 

1. (a) State whether the following statements are 

true or false : 
1

2
×4=2 

(i) Osteosclereids are elongated and 

slender cells. 
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(ii) When the petiole is absent, then leaf is 

called sessile. 

(iii) Continuous cambial activity is 

observed in all tropical trees. 

(iv) The endosperm in castor is the edible 

part. 

(b) Fill in the blanks : 1×3=3 

(i) Endosperm is short lived in the 

members of the ............. family. 

(ii) ............. enzyme plays an important 

role in bleaching the cuticle of stigma. 

(iii) Pollination by bees is called ............. . 

(c) Define the following terms : 1×5=5 

(i) Androecium 

(ii) Syngamy 

(iii) Functions of endosperm 

(iv) Tuber roots 

(v) Cross-pollination 
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2. (a) Explain the different types of meristems. 5 

(b) Describe the functions of the root cap and 

the quiescent centre. 5 

3. (a) Describe the internal structure of a dicot 

leaf with diagram. 5 

(b) Discuss the structure of stomata and 

explain how they are classified by their 

morphology. 5 

4. (a) Describe the anatomical adaptations in 

Xerophytes. 5 

(b) Explain the ABC model of flower 

organization. 5 

5. Describe the structure and function of 

specialized roots with examples and  

diagrams.  10 

6. Differentiate between any two of the following : 

5×2=10 

(i) Simple tissues and complex tissues 

(ii) Dicotyledonous embryo and 

monocotyledonous embryo  

(iii) Self-pollination and cross-pollination 
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7. Write short notes on any four of the following : 

2
1

2
×4=10 

(i) Polyembryony 

(ii) Self-incompatibility 

(iii) Cleistogamy 

(iv) Cross-pollination 

(v) Mycorrhiza 
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 (i)

 (ii) ]
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 (iii)

 (iv)

1×3=3

 (i)

 (ii)

 (iii)

1×5=5

 (i)

 (ii)

 (iii)

 (iv)

 (v)
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ABC 

5×2=10 

(i) 

(ii) 

(iii) 
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1

2
×4=10

(i) 

(ii) 

(iii) 

(iv) 

(v) 
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